OFFICE OF THE SUPERINTENDENT ODISHA, STATE ARCHAEOLOGY, IST FLOOR, SANSKRUTI BHAWAN, BHUBANESWAR-14.

NOTICE INVITING TENDER

No. 1305 Dated., Bhubaneswar. 6.4 - 2018.

The Superintendent Odisha State Archaeology invites sealed item wise percentage rate tender from empanelled Contractor of Culture Deptt. for Repairing of Pedestal & Colouring of 4 no. of Statues of Late Dr. Harekrushna Mahtab, Late Bipra Charan Mohanty, Late Biren Mitra & Late Jagannath Pani, at-Bhubaneswar.

Schedule of Quantities of

PART-A (Dr. Harekrushna Mahatab)

Ite m No	Description or specification of work to be executed	Total quantiti es of each to be execute d	Places at Which to be Executed	Quantities of work to be executed at each place	Dates by which executio n at all places must be complet ed	Rate at which material to be supplied (inclusive of all demand to be quoted by tender)	Unit	Total cost of each article (inclusive of all demand to be quoted by tender)	Remar ks
1	Fixing of Grinite tiles in floor, steps,landing of cement mortar (1:1) Data for 10 sqm.	12.38		12.38		452.47	Per sqm	5602.00	
2	Cost of Granite Area same as Item no-9. 15% extra add for broken	12.38		12.38		2080.00	Per sqm	25750.00	
3	Provision for Generator for Electricity of 2 days @ 240.00 / hr						LS	2880.00	
4	Colouring of statue (as per actual)						LS	10000.00	
5	Leveling and debris clearing of site as per actual.						LS	3297.00	
						-	TAL:-	47,529.00	
	GST 12%							5704.00 53,233.00	

PART-B (Late Bipra Charan Mohanty)

Ite m No	Description or specification of work to be executed	Total quantiti es of each to be execute d	Places at Which to be Executed	Quantities of work to be executed at each place	Dates by which executio n at all places must be complet ed	Rate at which material to be supplied (inclusive of all demand to be quoted	Unit	Total cost of each article (inclusive of all demand to be quoted by tender)	Remar ks
						by tender)			
1	Fixing of Grinite tiles in floor, steps,landing of cement mortar (1:1) Data for 10 sqm.	8.52		8.52		452.47	Per sqm	3855.00	
2	Cost of Granite Area same as Item no-9. 15% extra add for broken	8.52		8.52		2080.00	Per sqm	17722.00	
3	Provision for Generator for Electricity of 2 days @ 240.00 / hr						LS	2880.00	
4	Colouring of statue (as per actual)			1			LS	10000.00	
5	Leveling and debris clearing of site as per actual.						LS	2263.00	
				1		TC	TAL:-	36,720.00	
GST12%							4406.00		
							41,126.00		

PART-C (Late Jagannath Pani)

Ite m N o.	Description or specification of work to be executed	Total quantiti es of each to be execute d	Places at Which to be Executed	Quantities of work to be executed at each place	Dates by which executio n at all places must be complet ed	Rate at which material to be supplied (inclusive of all demand to be quoted by tender)	Unit	Total cost of each article (inclusive of all demand to be quoted by tender)	Remarks
1	Fixing of Grinite tiles in floor, steps, landing of cement mortar (1:1) Data for 10 sqm.	7.65		7.65		452.47	Per sqm	3461.00	
2	Cost of Granite Area same as Item no-9. 15% extra add for broken	7.65		7.65		2080.00	Per sqm	15912.00	
3	Provision for Generator for Electricity of 2 days @ 240.00 / hr						LS	1440.00	
4	Colouring of statue (as per actual)						LS	5000.00	
5	Provision of granite carving (as per actual)							1000.00	
6 .	Wash polishing (as per actual)							1000.00	
7	Debris cleaning (as per actual)	341						3042.00	
							TAL:-	30,855.00	
GST 12%							3,703.00 34,558.00		

PART-D (Late Biren Mitra)

Ite m N o.	Description or specification of work to be executed	Total quantiti es of each to be execute d	Places at Which to be Executed	Quantities of work to be executed at each place	Dates by which executio n at all places must be complet	Rate at which material to be supplied (inclusive of all	Unit	Total cost of each article (inclusive of all demand to be quoted by tender)	Remar ks
					ed	demand to be quoted by tender)			
1	Fixing of Grinite tiles in floor, steps,landing of cement mortar (1:1) Data for 10 sqm.	5.23		5.23		452.47	Per sqm	2366.00	
2	Cost of Granite Area same as Item no-9. 15% extra add for broken	5.23		5.23		2080.00	Per sqm	10878.00	
3	Provision for Generator for Electricity of 2 days @ 240.00 / hr						LS	1440.00	
4	Colouring of statue (as per actual)						LS	10000.00	
5	Provision of granite (as per actual)							1500.00	
6	Granite carving (as per actual)					4 4	1	1500.00	
7	Leveling and debris clearing of site as per actual.							383.00	
						TO	TAL:-	28,067.00	
						GST 1	12%	3,368.00	
							31,435.00		

The intended Contractor must possess valid Tin No, GST No & PAN No & submit photo copies of the Registration, experience and other related certificate like Income tax & GST Registration along with tender schedules . The detail of the terms and condition of the tender is in the bid document .The tender should be submitted by speed post /courier/ by hand during any working days during official hour from the date of publication of advertisement up to 3.30 P.M. 16.04.2018. The bid will be opened on the same day at 4.30 P.M. on 16.04.2018. The Technical bid and financial bid should be submitted separately up to specified time and date as stated above. The sealed cover should be super scribed with the name of work "Tender for Repairing of Pedestal & Colouring of 4 no. of Statue of Late Dr. Harekrushna Mahtab, Late Bipra Charan Mohanty, Late Biren Mitra & Late Jagannath Pani, at-Bhubaneswar & date of opening of tender. (Name of the maintenance work must be written in bold). The bid must accompany Rs.672/- towards cost of tender paper. Under no circumstances the bid will be accepted after the schedule date and time i.e. 16.04.2018, 3.30 P.M.

Superintendent Odisha State Archaeology
Odisha, Bhubaneswar

Sylvene 6 4 Vs

Memo No. 1306/Arch., Dt. 6/4/18	
Copy to PS to Hon'ble Minister, Tourism & Culture for	kind information.
	Superintendent Odisha State Archaeology
	Bhubaneswar
Memo No. 1307 /Arch., Dt. 6/4/16 Copy to PS to Commissioner- cum-Secretary, Tourism	& Culture (Culture)
Department for kind information of the Commissioner-cum-Se	ecretary.
	Superintendent
	Odisha State Archaeology
	Bhubaneswar
Memo No. 1308 /Arch., Dt. 6 4/18	
Copy forwarded to Director, Culture for kind informati	Superintendent Odisha State Archaeology
Memo No. 1309 (3) /Arch., Dt. 6/9//8	Bhubaneswar
Copy to Notice Board/ Archives/ State Museum for info	ormation of all concerned.
	Superintendent
	Odisha State Archaeology
Memo No. 13/0 /Arch., Dt. 6/4/18	Bhubaneswar
Copy to Luminous Infosys with a request to hoist the te	ander all notice in the Website
of Deptt. of T & C (Culture).	ender an notice in the website
or beptt. or rac (culture).	Superintendent 18
	Odisha State Archaeology
Memo No. 13/1 JArch., Dt. 6/4/18	Bhubaneswar
Copy to All Empanelld Contractor Culture Deptt.	Superintendent

Superintendent Odisha State Archaeology Bhubaneswar